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There are 6 (six) questions. Answer all 6 (six) questions. The symbols have their usual
meanings. Programmable caeuaos are ot alowed. Maks of each queston and
corresponding COs and POs are written in the brackets. Do not write on this question paper.

1. a) Formulate the expression of output voliage for a non-inverting summing a9
amplifier in case of three input volages. (cory
®o1)

the P in, A, of the T-feedback (12.5)
inverting amplifier shown in Fig. 1(b). (co2)
(PO2)

"~ Fig 10)
2.8 Skech the Bode plots (magnitude & phase) fr the st function, (12
H@)= cor)
) = iy : (o1
b) Explain the Bode plot i Fig. 2(b) and find thetransfer function H(w). (125
i (co2)
(PO2)

Fig. Zfb)
3. ) Sketch the circuit diagram of a unity gain amplifier and a precision half- (12.5)
wave rectifier circuit with its voltage transfer characteristics using op-amp.  (CO1)
1
a2

‘at i = 25 kHz and a unity gain magnitude at high frequency. Also ddzmmw (c(m
the'magnitide (in dB) of the gain at £ = 25 kHz. (®O:




a) in of an amplifie is gi A,=(wé‘;,”@.

amplifier stable? If s0,

i the low-fsqueny clossiloop gin is 10, is
determine the phase margin.

b) A feedback amplifier has a low-frequency open-loop gain of 4000 and three
poles atfn = 0D KHz fr =4 Mz, and =40 Mz A dominant pole is to
be inserted such that the phase margin is 50 degrees. Assuming the original
poles remain fixed, determine the dominant ple freuency.

S. a) Explain the frequency of oscillation and the condition of oscillation of a
Phase-Shift oscilla
b) Formulate the loop gain functions 7, the frequency of oscillation, and the
Ro/Ry required for oscillation for the circuit in Fig. 5(b).
Fig. 5(b)
6. ) Explain the lass-B operation of an amplifi

b) Analyse the operation of a class-AB complementary BT push-pull output
stage.
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